PILOT

PWS810 A"j7 8 n'Tn NN NoAd> MmN

Y 71V9 NINoNA AI7'YY NIDson NIY7ae - =
.T"70 1000 hv'no nN'fn =

AR an'T =

N0"1d MPn 210
A" 8 nayp
nirpn 15 N0"1d NI'dDN 'on

1 1 1 1 =
2V n%mI1 0'TA22 D'UNREN DX NN'N9AN NYDN -D'0NAR NY'INY UNP'7R NN
.nxIN"
QU1 15 %9 dran naon

NnITNIMm Nitdn

,0'Vxn N>’ NodNa nfan ninin -n"o 30 WA nan N1 =
DY YL NI

T7"70 600/800/1000 hv'no NN*Nn N =

nivw 3/6/9/12 % n'yo ntnwn o =

DN M) -

noxN TA1 M -

nisoin

T"%0 1000

no'no niN'‘nNn

A

'OANIX AN'T

.N71Y9 27w /Mxipn NN /mnwn /7"0/A'1vo ntnwn? tirn nimin

NTIAY 2AXN Naixn

nnon "1''oSXN

2% D'yax
84.5 Naia

60 ann nrrn
55.7 miy

nYI0 AIXT YR

nison ninNnn

7290110780432

T2

X917 "'V MY NIMNX

NINRKX 'NIN




